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１．試験開始までこの問題冊子の中を見てはいけません。

２．この問題の試験時間は，約90分間です。

解答はすべて解答用紙（マークシート）にマークしてください。

３．問題は全部で64問で，通し番号が1 〜 64までついています。

解答用紙（マークシート）にも同様に1 〜 64まで通し番号がついています。

前半60分はリーディング，後半約30分はリスニングです。

リスニングが始まるとリーディングには戻れません。注意してください。

リーディング：READING COMPREHENSION（No.1 〜 3）

GRAMMAR AND USAGE（SECTION 1 〜 2）

リスニング　：PART 1　CONVERSATIONS

（SHORT CONVERSATIONS, LONG CONVERSATIONS）

PART 2　MONOLOGUES（1 〜 3）

４．問題と解答は，声を出して読んではいけません。

５．印刷がはっきりしない場合のほかは，問題についての質問は受けません。

６．終了の合図で，すぐ筆記用具を置いて解答の記入をやめてください。

７．この問題冊子は回収するので，持ち帰らないでください。

８．試験中は，監督者の指示に従ってください。

９．不正行為があった場合は，解答はすべて無効とします。

リ ス ニ ン グ ・ テ ス ト の み 抜 粋 し て掲載しています
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LISTENING COMPREHENSION

Part 1 CONVERSATIONS

SHORT CONVERSATIONS

Which one of the statements is correct about the homework 

assignment?

ａ）The man added the numbers in the wrong step.

ｂ）The woman wants the man to turn it in now.

ｃ）The man will not be able to solve the first question.

ｄ）The woman doesn’t know how to answer the questions.

Which one of the statements is correct?

ａ）The man left his clothes outside in the morning.

ｂ）The woman didn’t know it would rain today.

ｃ）The man wants to stay home with the woman.

ｄ）The woman thought it would rain later in the day.

Which one of the statements is correct?

ａ）The man was sure he would do well at the science fair.

ｂ）The man did almost all the work on the science fair project.

ｃ）The woman received second place at the science fair.

ｄ）The woman didn’t think the man would do well at the science 

fair.
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Which one of the statements is correct about the man?

ａ）He wants his daughter to learn how to speak French.

ｂ）He wants his daughter to be bilingual in Japanese and English.

ｃ）He is married to a French woman.

ｄ）He speaks both English and Japanese fluently.

Which one of the statements is correct?

ａ）The man has gone on a homestay once before.

ｂ）The woman recommended doing a longer homestay.

ｃ）The man did not like the woman’s suggestions about homestays.

ｄ）The woman thinks that Australia and New Zealand have many 

similarities.

Which one of the statements is correct?

ａ）The woman is getting married in a green dress.

ｂ）The woman likes wearing simple jewelry.

ｃ）The man couldn’t help the woman find anything.

ｄ）The woman is shopping for a dress and earrings.

Which one of the statements is correct?

ａ）The man is upset about his social studies exam.

ｂ）The woman has to go to social studies class.

ｃ）The man is trying to cheer up the woman.

ｄ）The woman will help the man study harder.
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What are the speakers talking about?

ａ）Choosing a good toothbrush

ｂ）Taking care of pets

ｃ）Their morning routines

ｄ）Hairstyling and cosmetics

Which one of the statements is correct?

ａ）The woman went to high school in Japan. 

ｂ）The man forgot what club activities he joined in high school. 

ｃ）The man was a dance club member in high school. 

ｄ）The woman enjoyed club activities in her high school.

Which one of the statements is correct?

ａ）The woman met Amy about a week ago.

ｂ）The man will visit Amy in Canada.

ｃ）The woman hasn’t seen Amy for several weeks.

ｄ）The man met Amy at the airport.

Which one of the statements is correct?

ａ）The man is a vegetarian and can’t eat ham. 

ｂ）The man ate a sandwich for lunch yesterday. 

ｃ）The woman prepared a sandwich for the man. 

ｄ）The woman wants to eat a strawberry jam sandwich today.

Which one of the statements is correct?

ａ）The man recently got a cat at an animal shelter.

ｂ）The man’s sister is going to an animal shelter this week. 

ｃ）The woman is glad to get a cat from the man.

ｄ）The woman’s family had a cat in the past.
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Which one of the statements is correct?

ａ）The woman’s parents thought she needed a smartphone.

ｂ）The man was happy about his brother getting a smartphone.

ｃ）The man got his smartphone when he was in elementary school.

ｄ）The woman wanted to get a smartphone earlier than she 

actually did.

Which one of the statements is correct?

ａ）The woman is interested in speaking English more.

ｂ）The woman wants to do a homestay in a foreign country.

ｃ）The man has to rely on the woman’s advice to decide.

ｄ）The man is going to move to a dormitory soon.

Which one of the statements is correct about the woman?

ａ）She enjoyed the last episode of the drama.

ｂ）She is familiar with the official show website.

ｃ）She wanted to watch the last episode with the man.

ｄ）Her brother deleted the recording of her TV drama by mistake.

Which one of the statements is correct about the man?

ａ）He learned how to cook on his own.

ｂ）He taught his daughter how to cook.

ｃ）He spent a lot of money on good food.

ｄ）He saved money to attend a cooking class.
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LONG CONVERSATIONS

Long Conversation 1

Which one of the statements is correct?

ａ）The man is asking the woman to help him with his homework.

ｂ）The woman taught the man how to research information for 

debates.

ｃ）The man is very confident and calm in debate competitions.

ｄ）The woman thinks that the man got useful tips about debates.

Which one of the statements is correct about the woman?

ａ）Her teacher’s homework topic was very difficult.

ｂ）She enjoyed class today with the man.

ｃ）She asked the man about his debate class.

ｄ）She told the man that she had a lot of homework.
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Long Conversation 2

Which one of the statements is correct about the man?

ａ）He made travel plans with the woman to go to Africa.

ｂ）He is excited about the woman’s trip to Kenya.

ｃ）His best friend was born in Nairobi.

ｄ）He is mostly interested in seeing the wildlife in Nairobi.

According to the conversation, which one of the statements is 

correct about Kenya?

ａ）There is a national park located north of Nairobi.

ｂ）It takes about 18 hours to travel there from Tokyo.

ｃ）The woman has been there with her best friend.

ｄ）The man will spend about a month there alone for the summer.
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Long Conversation 3

What are the speakers mainly talking about?

ａ）Finding a part-time job

ｂ）Enjoying college life

ｃ）Improving writing skills

ｄ）Chooosing a college major

Which one of the statements is correct?

ａ）The man wants to become an educator.

ｂ）The woman has decided what to study in college.

ｃ）The man is going to see his parents next month.

ｄ）The woman wants the man to be honest with her.
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Long Conversation 4

What are the speakers mainly talking about?

ａ）Their favorite sports and books

ｂ）Health risks in playing soccer

ｃ）The best ways to relax

ｄ）Their plans for the afternoon

Which one of the statements is correct?

ａ）The woman is injured.

ｂ）The man is apologizing.

ｃ）The library is closed.

ｄ）The speakers will play soccer.
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Part 2 MONOLOGUES

Monologue 1

According to the monologue, which one of the statements is 

correct about Death Valley?

ａ）It receives about 20 millimeters of rain per month.

ｂ）Tourists and scientists started going there in the 1870s.

ｃ）The Panamint Indians lived there.

ｄ）Only a few species of plants and animals live there.

According to the monologue, which one of the statements is 

correct about Death Valley?

ａ）Bobcats can climb its mountains to escape the strong heat.

ｂ）Gold was discovered in the surrounding mountains in 1994.

ｃ）The temperatures can reach to over 50 degrees Celsius.

ｄ）It is the hottest and driest location in the entire world.
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Monologue 2

What is this monologue mainly about?

ａ）Some facts about human body temperature

ｂ）Items to use when measuring body temperature

ｃ）Reasons why body temperature has changed over time

ｄ）Researchers studying body temperature

According to the monologue, which one of the statements is 

correct about body temperature?

ａ）It has increased in the past decades.

ｂ）It stays the same across different body parts.

ｃ）It increases as thermometer technology improves.

ｄ）It has been influenced by environmental changes.

61

62



29

Monologue 3

What is this monologue mainly about?

ａ）A decrease in first-class passenger numbers on international 

flights

ｂ）New efforts made by some airline companies after the pandemic

ｃ）Changes in the number of travelers before and after the 

pandemic

ｄ）Differences in management policies between Lufthansa and 

Qantas

According to the monologue, which one of the statements is 

correct?

ａ）Lufthansa has reduced its airfares to attract customers.

ｂ）Domestic flights became more popular after the pandemic.

ｃ）Airline companies are willing to invest in luxurious services.

ｄ）The value of first-class seats has dropped because of the 

pandemic.
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